	Process

	Transaction
	Issued stock to investors for $10,000 in cash on October 1st

	Basic analysis
	The asset cash is increased by $10,000he owners’ equity common stock is increased $10,000

	Equation analysis
	ASSETS

CASH $10,000
	=
	LIABILITIES
	+
	OWNERS’ EQUITY
COMMON STOCK $10,000

	Debit-Credit analysis
	Debit increases assets: debit cash $10,000
Credit increases owners’ equity: credit common stock $10,000

	Journal entry
	10/1
	Cash
	$10,000
	

	
	
	
	Common Stock
	$10,000

	
	
	Issued $10,000 common stock

	Posting
	CASH
	
	COMMON STOCK
	

	
	$10,000
	
	
	
	$10,000
	

	Transaction
	Purchased a used car for $8000 cash for use in business on October 3rd

	Basic analysis
	The asset equipment-car is increased by $8000 and the asset cash is decreased by $8000

	Equation analysis
	ASSETS

EQUIPMENT – CAR $8000
CASH – ($8000)
	=
	LIABILITIES
	+
	OWNERS’ EQUITY

	Debit-Credit analysis
	Debit increases assets: debit equipment-car $8000
Credits decrease assets: credit cash $8000

	Journal entry
	10/3
	Equipment – Car
	$8000
	

	
	
	
	Cash
	$8000

	
	
	Purchased car for cash

	Posting
	CASH
	
	EQUIPMENT-CAR
	

	
	
	$8000


	
	$8000
	
	

	Transaction
	Purchased supplies on account for $500 on October 10th

	Basic analysis
	The asset supplies increased by $500 and the liability accounts payable increased by $500

	Equation analysis
	ASSETS

SUPPLIES - $500
	=
	LIABILITIES
ACCOUNTS PAYABLE - $500
	+
	OWNERS’ EQUITY

	Debit-Credit analysis
	Debit increases assets: debit supplies $500

Credit increases liabilities: credit accounts payable $500

	Journal entry
	10/10
	Supplies
	$500
	

	
	
	
	Accounts Payable
	$500

	
	
	Purchased supplies on account

	Posting
	SUPPLIES
	
	ACCOUNTS PAYABLE
	

	
	$500
	
	
	
	$500

	

	Transaction
	Billed customers $2,600 for services performed on October 18th

	Basic analysis
	The asset accounts receivable increased by $2,600 and the owners’ equity revenue increased by $2,600

	Equation analysis
	ASSETS

ACCOUNTS RECEIVABLE - $2,600
	=
	LIABILITIES
	+
	OWNERS’ EQUITY
REVENUE - $2,600

	Debit-Credit analysis
	Debit increases assets: debit accounts receivable $2600

Credit increases owners’ equity: credit revenue $2600



	Journal entry
	10/18
	Accounts Receivable
	$2,600
	

	
	
	
	Revenue
	$2,600

	
	
	Billed customers for services performed

	Posting
	ACCOUNTS RECEIVABLE
	
	REVENUE
	

	
	$2,600


	
	
	
	$2,600
	

	Transaction
	Paid $200 cash for advertising start of the business October 19th

	Basic analysis
	The asset cash was decreased by $200 and the owners’ equity was decreased by $200 or increased advertising expense $200

	Equation analysis
	ASSETS

CASH – ($200)
	=
	LIABILITIES
	+
	OWNERS’ EQUITY
ADVERTISING EXPENSE – ($200)

	Debit-Credit analysis
	Debits decrease owners’ equity: debit advertising expense $200

Credits decrease assets: credit cash $200

	Journal entry
	10/19
	Advertising Expense
	$200
	

	
	
	
	Cash
	$200

	
	
	Paid for advertising

	Posting
	CASH
	
	ADVERTISING EXPENSE
	

	
	
	$200
	
	$200
	
	


